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Rewrite so all exponents are positive,
then simplify.
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Use properties of exponents, simplify, and

then check that all exponents are positive.
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Addition and Subtraction
Before numbers in scientific notation can be added or

subtracted, the exponents must be equal. ff dotwve 6’\“ CA(?‘M\U]\‘

‘— Not equal _l / £— Equal —1

(3.4 X 107) + (4.57 x 10%) = (0.34 x 10%) + (4.57 x 107

L The decimal is moved '_1 LUQ- “'C/W‘ﬂ‘)
to the left to increase — (0.34 + 4.57) x 103
the exponent.
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Multiplication
When numbers in scientific notation are multiplied, only the
number is multiplied. The exponents are added.
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(2.00 x 103)(4.00 x 10%) = (2.00)(4.00) x 103+4
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Division
When numbers in scientific notation are divided, only the
number is divided. The exponents are subtracted.
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9.60 x 107 _ 960 . ,
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Operations with Scientific Notation - Practice

Addition and Subtraction
Before numbers in scientific notation can be added or
subtracted, the exponents must be equal.

r Not equal _l 1——— Equal —1

(3.4 x 10%) + (4.57 x 103) = (0.34 x 103) + (4.57 x 103)

The decimal is moved
to the left toincrease = (0,34 + 4.57) x 103

the exponent.
=491 x 103

1. (9.19x 10%) + (2.3 x 109 2. (5x10% —(4x10%

3. (6.75 x 10%) — (2 x 10%) 4. (12%1073) + (8.9 x 1073)
5. (9.99%1072) — (1.2 X 1073) 6. (4.3 x107)— (7.5 % 105)
7. (2.345 x 102) + (1.31 x 10°) 8. (75x1072)— (2x107%)




Multiplication
When numbers in scientific notation are multiplied, only the
number is multiplied. The exponents are added.
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Division
When numbers in scientific notation are divided, only the
number is divided. The exponents are subtracted.
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(2.00 x 10°)(4.00 x 10°) = (2.00)(4.00) x 103+ 9.60 x 107 _ 9.60 . .07-4
1.60 x 104 1.60 I
= 8.00 x 107
= 6.00 x 103
(4 x 102)(2.2 x 10%) 2. 9x1074
3x 100
(6.02 x 107)(2x 1071) 4. 1.4 x10*
2% 108
(7 x1073)(5 x 10719) 6. 3.5x107°
7 X 102
(4.1 x 103)(5 x 10%) 8. 6.6 x 107
3x 1076
(2.5%x 10%)(4 x 1077) 10. 4.6 x 10*

2.3 x 100







